APPB

November Examination

Answer the following using nouns, verbs, and -ly words.

1. Determine the highest grade for Tally for the 1st Semester given that he turned in his 1st Quarter Portfolio on October 17th and the 2nd Quarter Portfolio on December 13th making the following scores.

	
	1st Quarter
	2nd  Quarter
	

	Overarching Process
	1
	2
	

	7 Systemic Parts of APPB
	2
	4
	

	Your Ability to Test
	2
	3
	

	Growth
	4
	2
	

	Inquiry
	0
	3
	

	Web Page/Free Choice
	3
	3
	

	Journal
	4
	4
	

	
	
	
	


2. What was your hypothesis for your proposed science fair project?

3. Give the specs for these 4 Cows. Identify the three functions d(t), v(t), and a(t).
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4. What is the Fermi number for the number of toothpicks in a light-year? Why?
5. If a person runs half of a 7.0 kilometer race at 7.0 km/h, and the other half at 11 km/h, graphically show the average velocity, and the time it took for the race.
6. Add the following vectors and identify the methods used.
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7. If you were on another planet, what would the "reaction distance" be? How do you figure?

8. Verify that m/s/s = m/s2

9. How many slugs are in a dan on the moon?

10. Using the information below, identify the position of the ball for the next 3 time intervals, the initial velocity for each interval, and the acceleration.
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11. Simulate a problem from the Chapter 2 homework in IP.

12. Where would the center of pressure be for the following rocket with three identical fins made of balsawood (density = 140 kg/m3). The mass of the body of the rocket is 3.40 x 10-3 slugs.
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